Notice, before you consider my answer, how weak Callahan’s evaluation of this argument is.  She merely says, “Having a baby is not like . . . being hooked up to a famous violinist’s artificial life-support system” (p. 368).  She is telling us that she knows of relevant disanalogies, but she is not telling us what they are!  Don’t leave your reader in the dark in this way.  Take the time to spell out the disanalogies!

First part of our recipe:  list of disanalogies.  (I’ve tried to follow up on some of Callahan’s suggestions.)  A mother’s relation to the fetus is disanalogous to my relation to the violinist because:

a.
The violinist was not conceived in and will not emerge from my body; the fetus was conceived in and will emerge from the mother’s.

b.
In the case of the fetus there is a dynamic passage from conception to birth.

c.
Fetal development to birth is genetically ordered and universally found in the human species.

d.
In sum, a mother is the fetus’s mother!  I’m not the violinist’s mother.

Second part of recipe:  adjust either target or analog (or both) to remove the disanalogies.  I’ve found ways to adjust the analog to remove the disanalogy.  I won’t try to adjust the target.

I can adjust the analog to remove these disanalogies by adding the following background information.  Imagine that, (d) as it happens, the violinist is my son; I am his mother!  (a) He was conceived and did emerge from my body, albeit twenty years ago.  If you think it makes a difference, you can even imagine that my son the violinist is inexplicably small for a twenty-year-old human, indeed he is only about three inches long (!), and the doctor’s actually reinserted him into my body by virtue of our mother/child natural genetic makeup, so that the process of healing him is therefore (c) genetically ordered.  (b) The life support my body gives to him will heal his life-threatening dependency upon me by a “dynamic process” from his initial hook up to my kidney to his eventual complete disconnection with normal health.

With these adjustments to the background information for the analog, the disanalogies I listed are removed.  (Of course, you may have thought of others.)  I still agree with the author about the conclusion of the analog (as adjusted in test 1):  if I was not responsible for the hook up of him to (or within!) me, even if he is my son, there ought NOT to be a law requiring me not to kill him by getting unhooked.

Notice, also, that, because of the way I had to adjust the analog in test 1, this means by analogy that there ought not be a law forbidding abortion in the case of rape or other cases where I’m not responsible in any way for the pregnancy (e.g. severe retardation).  The analogy would require the law to permit abortions through the ninth month of pregnancy when the mother, through no fault of her own, was unable to abort earlier.  The analogy does NOT show that any abortions are morally blameless; only that no law should forbid them.

In sum, I found no relevant disanalogies in test 2.  Test 1, however, severely limited the use of this analogy for pro-choice purposes.

